Sequences and Series Test C Name.

Solve.
1) A ball is dropped from a height of 3.0 m. On each upward bounce the ball Mumsto-éz-oﬁlspm\riwsheight.
Find the total vertical distance the ball travels before coming to rest.
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Write the sum using summation notation, assuming the suggested pattern continues.
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Determine whether the infinite geometric series converges. If the series converges, determine the sum.

7)3464124 264 ..
le Con Verges —ler |
— =1
> =2
T
[ & D.‘chg5¢.>



12 12 59”

8)60- 124 -+ \—r
..|__?: -1 _ O
o~ S = _/-l
N -(3)
5oy . £ so
ExprSs the rational number as a fraction of integers. Show afPyour work.
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Find an explicit rule for the nth term of the geometric sequence. -
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Find an explicit rule for the nth term of the arithmetic sequence,
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17) Write the first 5 terms of the sequence. Assume n=1
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Find the sum of the arithmetic sequence.
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Solve.
19) An auditorium has 25 rows with 10 seats in the first row, 12 in the second row, 14 in the third row, and so forth.

How many seats are in the auditorium? & = [O% 2(25"‘)
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Find an explicit rule for the nth term of the geometric sequence.
20) The second and fifth terms of a geometric sequence are -36 and 2304, respectively.
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Find the sum of the first n terms of the sequence.
2)24,2832.3%,...:0=9  Gp= 24 4+4(n-) S = E(zq_} s@)
Cg =St d »
= 3o
2)7,-1,-9,-17, ..;n=9 Gn="T— 3(a-1) -
Gn==-S7 51: -i(’l -57)
2)10,12,14,16,...;n=8 A&, = (0+2(n=) =235
%
ag=2Y S’: 2 (i0v29)
Find an explicit rule for the nth term of the arithmetic sequence. = l'}(’
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Find the sum of the partial geometric series. &= 39
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